           Socio 15:  Final  Practice
Frequency Distributions

Below in a stem and leaf plot are empathy scores for males.
i.   Create a frequency distribution using stated limits.  
ii.   Find the mean, median, mode, upper quartile, lower quartile, inter-quartile range, and sample standard deviation.  
iii.   Interpret your findings in terms of skewness (comparing mean, median, and mode) and variability (comparing IQRs and standard deviations).

iv.   Check For Outliers: Q1- 1.5(IQR) to see if any outliers to left of distribution, and Q3 -1.5( IQR) to see if any outliers to right of distribution,
Males  N=16

2|2488

3|23456677789

4|0

Probability 
How many ways can the top three tennis players place, in the exact order of them finishing, out of 10 tennis players at the annual Wimbledon event?

Prof.  Cohn needs to choose 4 multiple questions out of 6 for Quiz #5.  How many combinations are possible?
How many different ways can 6 books be arranged on a shelf?

Who is the best stat teacher @ SJSU (2 EC pts)?

It is estimated that noncitizens represent 25 percent of the Elmwood Correctional population in Milpitas, Ca.  If we randomly select 8 inmates, what is the probability that:

i. exactly 2 are noncitizens? 
ii.    2 OR less are noncitizens?

Normal Distribution

Z Scores   x–µ/ó 
Assume that Professor evaluation scores are normally distributed.  Read the chart and answer the questions below.                       

	
	Population Mean (µ)
	Population Standard Deviation
	

	
	
	
	

	SJSU Professors
	100
	20
	

	UC Berkeley Professors
	110
	24
	


i.  What is the probability that a SJSU professor would get an evaluation between 95 and 125?  
ii. What is the probability that a SJSU professor would get an evaluation above 110? 

iii. What is the probability a UC Berkeley professor would get an evaluation between 95 and 120?  

iv.  What raw score would SJSU professor need to place in top 5 % of all SJSU professors.

v.    Say a professor had a z score of .75.  What would be their percentile ranking? (hint: for scores below, mean use ‘small part’ to find percentile, scores above mean, use ‘big part’ to find percentile)

Independent Samples T Test (10 pts)

	Group 1
	Group 2

	3
	5

	4
	5

	3
	6

	4
	5

	5
	7

	6
	8


Following Calculations have been performed.

Grp 1  
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1=4.17 ;  s21 = 1.37;  n1=6                   Grp 2   
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2 = 6;  s22=1.6;   n2=6
i.  Running a two-tailed test, test the null hypothesis of no difference between the two groups at .05 level of significance and n1  + n2  ̶  2 degrees of freedom.

Regression  Analysis
1) A sample of eight people was asked the numbers of people living in their households and the typical numbers of times the family or household dined out together per month.

	Size of Household

(x)
	3
	2
	5
	7
	4
	3
	4
	4

	Times Dined Out

(y)
	3
	5
	2
	0
	1
	4
	2
	1


Using the following calculations…….ƩX=32; Ʃ(x)2 = 1024;  Ʃx2 = 144;  Ʃxy=57;  Ʃy=18;
i.  Find the slope(b) and y-intercept(a) for the data

ii. Write out the regression equation and interpret.

iii. If a randomly selected family has four members, what is their expected number of times dined out?
Interpreting Regression  Output
Below is a printout from an Excel spreadsheet, with X= # of years with company and Y= # of Days absent:
	Slope
	-0.97273
	8.454545
	Intercept

	Stand Error
	0.515078
	2.462546
	

	R2
	0.416327
	2.887591
	

	SS     Regression
	  29.73766
	41.69091
	SSResidual


i.   Write out regression equation and interpret. 

ii.  Find rxy and interpret in terms of strength and direction.

iii. How was r2xy calculated from the printout above? Interpret   r2xy

Chi Square  (10 pts):   Sociologist asked 234 students at SJSU about their drinking habits, specifically, if they had gotten sick from alcohol consumption in the last six months.  The following data have been collected:
	Category
	Observed
	Expected
	Difference
	(O-E)2
	(O-E)2/E

	Nauseas
	75
	
	
	
	

	Vomited
	69
	
	
	
	

	Not Sick
	90
	
	
	
	


i   Using the Chi Square test statistic, test the null hypothesis of no difference between the categories at the .05 level of significance.   
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